, I know that this question is correct
1,    f(x) = ln (5x-7)

       f (g(x)) = ln (g(x))             df / dg = 1 / g(x)

       g(x) =5x-7                         dg /dx = 5

     df / dx = df / dg . dg /dx 

               = 1 / g(x) . 5

               = 5 / 5x-7
You did it correctly. This is called chain law.
2,using the same philosophy can you show me how to determine the following

f(t) = ln (5 – 2/3(t))

f (g(t)) = ln (g(t))                              df / dg = 1 / g(t)

f (t) = (-2t/-3t +5)
can you please show me how to complete the question I think what I have done so far is correct and I hope you understand the question because my computer skills do not allow me to type it as it is written
Your question is not typeset clearly.  

If your question is
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If your question is

                       
[image: image3.wmf])

5

ln(

)

(

3

2

t

t

f

-

=


Then

                      
[image: image4.wmf]t

t

t

f

2

15

2

3

2

5

1

)

(

)

(

'

3

2

-

-

-

=

-

=


3,  determine  f ‘(t)  if  f (t) = G( l – e-kt)

                                           = G – Ge-kt  /  1

I think the next line is correct but can you check and show full working for all problems
Solution. If f (t) = G( l – e-kt), then
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Note that 
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